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10 Mk; tFg;G fzpj ghlj;jpy; tiugl ghlg;gFjpahd rpwg;G tiugl tpdhf;fspy; 5 kjpg;ngz;fs;
vspjhf thq;Ftjw;fhd topKiwfs;

Neh;khWghL rhh;e;j fzf;Ffis vspjhf epidtpy; itj;Jf;nfhs;tjw;fhd thf;fpak;:
th;\pfh Jzpf;filf;F NgUe;J my;yJ ,U rf;fu thfdj;jpy; kzp Neuj;jpy; nrd;WtpLths;.

Neh;khWghL rhh;e;j fzf;FfSf;fhd jPh;TKiwfs;:
thpir
vz;

Gj;jfj;jpYs;s
tpdh vz;

ml;ltiz msTj;jpl;lk; ,Wjpapy; Nfl;fg;gl;bUf;Fk;
tpdhtpw;fhd tpilfs;

1 v.fh:3.47 tpl;lk;(x)
nr.kP

1 2 3 4 5

Rw;wsT
(y) nr.kP

3.1 6.2 9.3 12.4 15.5

X mr;R 1 nr.kP = 1 nr.kP
Y mr;R 1 nr.kP = 1 nr.kP

X = 6 vdpy; y = 18.6

2 gapw;rp 3.15y;
(1)

Fwpj;j
tpiy (x)

1000 2000 3000 4000 5000

js;Sgb
(y)

500 1000 1500 2000 2500

X mr;R 1 nr.kP= 1000 &gha;
Y mr;R 1 nr.kP = 500 &gha;

Y = 3250 vdpy; x = 6500
X = 2500 vdpy; y = 1250

3 v.fh: 3.48 gaz
Neuk; (x)
kzpfspy;

1 2 3 4 5

J}uk; (y)
fp.kP-y;

50 100 150 200 250

X mr;R 1 nr.kP = 1 kzp
Y mr;R 1 nr.kP = 50 fp.kP

𝐱 = 𝟏
𝟏

𝟐
vdpy; y = 75

Y = 300 vdpy; x = 6

tpfpjrk khwpyp 𝐤 =
𝟓𝟎

𝟏
=

𝟏𝟎𝟎

𝟐
= 𝟓𝟎

4 gapw;rp 3.15-y;
(6)

Neuk; (x)
kzpapy;

4 8 12 24

fl;lzj;
njhif (y)

60 120 180 360

X mr;R 1 nr.kP = 4 kzp
Y mr;R 1 nr.kP = 60 &gha;

X = 6 vdpy; y = 90
Y = 150 vdpy; x = 10
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vjph;khWghL rhh;e;j fzf;Ffis vspjhf epidtpy; itj;Jf;nfhs;tjw;fhd thf;fpak;:
ep\he;j; gs;spapy; 24 kjpg;ngz; ngw;wjhy; Foha; epWtdj;jpw;F Ntiyf;Fr; nrd;whd;.

vjph;khWghL rhh;e;j fzf;FfSf;fhd jPh;TKiwfs;:

thpir
vz;

Gj;jfj;jpYs;s
tpdh vz; ml;ltiz msTj;jpl;lk; ,Wjpapy; Nfl;fg;gl;bUf;Fk;

tpdhtpw;fhd tpilfs;

6 v.fh:3.50 Ntfk;(x)
fp.kP/kzp

12 6 4 3 2

Neuk; (y)
kzp

1 2 3 4 6

X mr;R 1 nr.kP = 1 fp.kP
Y mr;R 1 nr.kP = 1 kzp

X = 2.4 vdpy; y = 5

7 gapw;rp 3.15y;
(5)

gq;Nfw;ghsh;
vz;zpf;if (x)

2 4 6 8 10

Xt;nthUthpd;
njhif (y)

18
0

90 60 45 36

X mr;R 1 nr.kP = 2 egh;fs;
Y mr;R 1 nr.kP = 10 &gha;

Tpfpjrk khwpyp k=xy =
2x180 = 360

x = 12 vdpy; y= 30

8 gapw;rp 3.15 y;
(2)

x 1 2 3 4 6 8

y 24 12 8 6 4 3

X mr;R 1 nr.kP = 1 myF
Y mr;R 1 nr.kP = 2 myFfs;

𝐱 = 𝟑 vdpy; y = 8
Y = 6 vdpy; x = 4

9 gapw;rp 3.15-y;
(4)

Foha;fspd;
vz;zpf;if (x)

2 3 6 9

Neuk; (y)
epkplq;fspy;

45 30 15 10

X mr;R 1 nr.kP = 1 Foha;
Y mr;R 1 nr.kP = 10

epkplq;fs;

X = 5 vdpy; y = 18
Y = 9 vdpy; x = 10

10 v.fh 3.49 Ntiyahs;fspd;
vz;zpf;if (x)

40 50 60 75

ehs;fspd;
vz;zpf;if (y)

150 120 100 80

X mr;R 1 nr.kP = 10 egh;fs;
Y mr;R 1 nr.kP = 10 ehs;fs;

X m;jpfhpf;Fk; NghJ y
Fiwtjhy; vjph;khWghL
X =120 vdpy; y = 50
Y= 200 vdpy; x = 30
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